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 1- 

          =  

    S    P.

           .

) (

 :    :g=10N/kg  m’=2,5Kg  m=1kg  l=1m

Q.1  :              :

 :(E)V=:(D)V=:(C)V=:(B)V=:(A)

Q.2 : V         :

 :(E)0,5m/s:(D)5m/s:(C)0,4 m/s:(B)4m/s:(A)

 Q.3 :       T   M  :

 :(E)T=(m+m’)g  :(D)T=m’g  :(C)T=mg :(B)T= (1-z).g :(A)

 Q.4 :    V’       :

 :(E)4,54 m/s:(D)3,24 m/s:(C)2,24 m/s:(B)2 m/s:(A)

 2:  

 :      
–

       .   

                  .

                 t0=0  V0=5ml  

  24  C0=10-3mol/l .    t1/2=15h  NA=6,02.1023mol-1. 
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Q.5 :   )np    nN   (:

 :(E) D): np=24, nN=24 C): np=12, nN=12 B): np=24, nN=12A): np=12, nN=24

Q.6 :  :

 :(E)n + e       p  :(D)P + n         e :(C) n        p + e-:(B)P       n + e:(A)

Q.7:n1    24       t1=3h  :

 :(E)5,35.10-6mol:(D)4,35.10-6mol:(C) 3,35.10-6 mol:(B)2,35.10-6mol:(A)

Q.8 :     t1  :

 :(E)336.1013Bq:(D)33,6.1013Bq:(C)3,36.1013Bq :(B)336.1012Bq:(A)

Q.9 :   V2=2ml      t1=3h   n2=2,1.10-9mol   24 .

  VS   :

 :(E)Vs=1,20 L:(D)Vs=0,46 L:(C)Vs=0,86 L:(B)Vs=0,96 L:(A)

 3 : 

       .   K

  t=0   )1 (    

 C .       (2)

        m=25g 

 h=40cm .

  :C=350 F  E=24V    g=10m\s2

Q.10 :     uc  :

C:         B:          A: 

 :ED: 

Q.11 :        +Bt Uc(t)=Ae-
    A    B  :

 :(E)
:(D)

A=E ;
;

B=E

:(C)
A=-E ;

;
B=E

:(B)
A=-E ;

;

B=E

:(A)
A=E ;

;

B=-E
Q.12 :    i(t)     :

 :(E)(D)i=i=:(C))i=E(1-:(B)i=:(A)
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Q.13 :            t1/4 :

 :(E)t1/4=5,23:(D)t1/4=3,23:(C)t1/4=2,23:(B)t1/4=0,69:(A)

Q.14:      :

 :(E)E=0,5J :(D)E=0,2J :(C) E=0,1J :(B) E=0,05J:(A)

Q.15:         Uc=4V . h’
    :

 :(E)h’=50cm:(D)h’=40cm:(C)h’=30cm:(B)h’=20cm:(A)

 4  :

     (AB)  (BC)  (CD) 

  .

-   AB=1m  

30   .

-    BC=1m.

- CD  O  r=1m .

     :  (S)   m=1kg
 VA=2,0m/s.

   A    AB   B  VB= 3,0m/s      C 
 VC=0m/s.

    :  (S)   C         (CD)  .g=10N/kg

Q.16 :   (S)    (S)  A B  :

 :(E) JPW
BA

5 :(D)JPW
BA

10 :(C) JPW
BA

10 :(B) JPW
BA

5 :(A)

Q.17: R   (AB)   (S)    A  B  :

 :(E)JRW
BA

10:(D)JRW
BA

52,:(C)JRW
BA

5:(B)JRW
BA

52,:(A)

Q.18 :   fBC   (BC) :

 :(E)(D) : NfBC 50,(C) : NfBC 9(B) : NfBC 54,(A) : NfBC 54,

Q.19 :    vM  (S)   M   :

 :(E)
(D) :

cosgrvM 2

(C) :

singrvM 2 

(B) :

)sin(12grvM

(A) :

)cos(12grvM

Q.20 :  (S)  (CD)      :

 :(E)(D) : 0m(C) : 861,m(B) : 841,m(A) : 835,m



 

 1  :   .

     t=0     :0,15mol 
     :

CH3-CH2-CH2-COO-CH2-CH2-CH3 0,15mol  

         

(Pierre ponce).

      .   G  F.

    X  .   

Q.1  :   :

E) :D):  C):  B): A) :
Q.2  :  F  G :

E) :D)C)B)A)
F: C5H11-COOH

G: CH3-OH
F: C4H9-COOH

G: C2H5-OH
F: C2H5-COOH

G: C4H9-OH
F: C3H7-COOH

G: C3H7-OH
Q.3 :  :

E) :D): = 33,33%C): Xmax= 0,05molB): xmax= 0,15molA): X f = xmax

Q.4 :   VR :

A . VR    

B.  VR      

C.  VR   

D.       :VR=

E. 

Q.5 : -   :
A  .    

B  .     

C .   

D  .      

E  .

Q.6  :   t1/2

A .t1/2     x=xmax/2
B .t1/2 33min
C .  t1/2   

D .  t1/2   

E  .

Q.7  : :

A  .   Qr,i    K
B  .      Qr,i>k
C  .       



D  .        K

E  .

 2  :   .

 1L      CH3COOH   C1=10-2mol/L     S 
  C=1mol/L  . pH ,S13.4    250C .

  :pkA  CH 3COOH/CH3COO-
 4,8  Ke=10-14

   250C
Q.8  :   pH  pKA :

E): D):C):B):A):

Q.9  :  S1 :

A  .   S1   (10)   S .
B  .    S1          S
C .          

D  .       10ml     1L
E  .

Q.10  : VS   S  VE       :

E) :D):C):B):A):
VS=100ml
VE=900ml

VS=10ml
VE=990ml

VS=20ml
VE=980ml

VS=50ml
VE=950ml

Q.11 :   :

A .      

B  .    4%
C .  

D  .  /   :CH3COOH/CH3COO-
  H3O

+/HO-

E  .

Q.12 :  CH3COOH  CH3COO-

   V1=60ml    S1  V2=20ml    S2 (Na(aq)
++CH3COO-

(aq))  C2=3.10-2mol.L-1
     pH=4,8.

A  .[CH3COOH]f >>[CH3COO-] f

B  .[CH3COOH]f <<[CH3COO-] f

C  .[CH3COOH]f =[CH3COO-] f

D  .[CH3COOH]f =2[CH3COO-] f

E  .

Q.13  :      :

    60ml    S1  V3     (Na(aq)
++ HO-

(aq))
 C3=3.10-2mol.L-1

     pH=4,8.

A  .  

B .    :CH 3COOH
C  .   

D  .      :K=KA/Ke

E  .

Q.14  : V3 :

E) :D): V = 40ml C): V = 30mlB): V = 60mlA): V = 20ml
Q.15  :   :

A .    S3     V3=60ml



B  .      CH3COO-

C  .     

D .    

E  .

 3  :   .

 1:     Cu     

  2( )aqBr       :

    
251021,K    

       S  (II)

 )( )()( aqaq BrCu 22
 C.

 2:

       

mLV 100     (II)  )

 2.(

   K  0t     

 I     t.

      2Cu   

  3.

:

   :molCF /965001    

molgCuM /,)( 563.

Q.16  :  Cu  Br2 :

A .    .

B .    .

C .  Br2  .

D .  .

E ..

17  : S  (II) :

A . S .

B . S .

C .BrCuC 2
.

D .   S  BrCu
BrCu

2
2.

E ..



Q.18  :    :

A .   .

B .       .

C .    .

D .   .

E ..

Q.19  :    :

A .       :m = 0,635g.

B .        t       :Q = 9650C.

C .     t = 1250s   :
121052 LmolBr ..,][.

D .   
2Cu  t    :

VF

tI
CCu

.

.

2
2.

E ..

Q.20  :   I :
:ED: I = 0,77 AC: I = 3,86 AB: I = 38,6 AA: I = 0,386 A

   

             .

1.      :

A.     .

B.20   20    .

C.      .

D.64    20    .

2.    ARNm.

A.   ADN   ADN .

B.  ADN   ARN .

C.  ADN    .

D.  ARN    .

3.    ADN  :

A.      ADN   ADN .

B.        ADN    .

C.      ADN   ADN .

D.    ADN    ADN .

4.       ARNm  AUAAAUUGGAUUUUGGGU    

 :

A.ADN   ATAAA TTGGATTTTGGGT.

B.ADN   AUAAAUUGGAUUUUGGGU.

C.ADN    ATAAATTGGATTTTGGGT.

D.ADN    AUAAAUUGGAUUUUGGGU.

5.            :

A.    ADN .

B.    ADN.

C.    ADN .

D.    ADN.

6.    :

A.       .

B.      I.



C.      II.

D.    .

7.      :

A.     .

B.    .

C.    .

D.     .

8.     ADN            :

04 7 10 11 13 1416

 ADN
) (

7,37,314,614,67,37,33,63,6

       :

A.     ADN    .

B.     ADN   .

C.       )4.(

D.       )11.(

9.          :

A.        .

B.       .

C.       .

D.      .

10.           :

A.         .

B.         .

C.       .

D.       .

11.            ADN    :

A.            ADN   .

B.            ADN   .

C.            ADN   .

D.            ADN   .

12.          :

A.30  ATP.

B.38  ATP.

C.36  ADP.

D.38  ADP.

13.   :

A.    .

B.     .

C.    .

D.    .

14.  :

A.  LH  .

B.  FSH  .

C.  FSH  .

D.  FSH  .

15.  Kreps :

A.   A     .

B.       .



C.       .

D.   ADP       ATP.

16.    :

A.       .

B.        T.
C.    T    .

D.  T       .

17.     ) (.

A.  Tc  CMH      .

B.   T       Tc.

C.        .

D.         Tc.

18. B :
A.    .

B.     .

C.     .

D.     .

19.    :

A.    .

B.     .

C.   ADN  .

D.    .

20.      :

A.    FSH  LH.

B.      FSH  LH.

C.     FSH  LH.

D.     FSH  LH.




